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[Time: Three Hours] [ Marks:100]

Please check whether you have got the right question paper.
N.B: 1. Attempt any five questions, selecting not more than three from any one section.
2. Figures to the right indicate full marks.
3. Draw neat diagrams wherever necessary.

Section |
Attempt any two of the following:-
a) Discuss the important features of oligopoly.
b) Discuss the price output determination under cartel.
c) Explain prisoner’s dilemma.

Attempt any two of the following:-
a) Explain factor pricing under Imperfect Market conditions.
b) Explain how wages are determined under Bilateral monopoly.
c) Explain loanable funds theory of interest rate.

Attempt any two of the following:-
a) Discuss general equilibrium in consumption.
b) How are Pareto optimality conditions achieved under perfect competition?
c) State and explain Kaldor- Hicks.compensation criterion.

Attempt any two of the following:-
a) What is search cost? Explain its importance.
b) Explain how asymmetric information leadsto the problem of adverse selection.
c) Discuss efficiency wage theory.

Section Il
Attempt any two of the following:-
a) Derive LM curve and explain its features.
b) Explain the relationship between slope of IS curve and effectiveness of monetary policy.
c) Derive Aggregate demand curve from IS-LM model.

Attempt any two of the following:-
a) Describe Harberler’s Theory of opportunities cost of International Trade.
b) Explain the Law of Reciprocal demand with the help of offer curves.
¢) Discuss the free trade policy.

Attempt any two of the following:-

a) Explain flexible exchange rate system.

b) Explain relative efficiency of fiscal policy under flexible exchange rate and perfect capital mobility in
Mundell- Flemming model.

¢) Discuss the measures in correcting the disequilibrium in the balance of payments.

Attempt any two of the following:-
a) Explain the role of state in correcting market failures.
b) Discuss the ability to pay principle of taxation.
c) Discuss the incidence of taxation under varying elasticity of demand.
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Please check whether you have got the right question paper.
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N.B: 1. #IUTAEr 9Tl 9=l &S W Vel TAHTENcie STEic STecl oiiel 27 Fisa.

2. 3RS 3k qUT IO eI

3. 3EWTs Ay e 3ThcAT FIal.

fsmer ¢
GTelloTdhT HIUTART GleT 9T Hisdr.
JifeusaIfiaR (Oligopoly) SEIRTT dferseyr Iray T4t .
FIEaaed fhAT-3caIeT 8 SXfael S o TISC AT
ShemaT U YT FEUTS HIT oI TIST .

GrelloTdedhT HUTART a¥T YT Hisdr.

3T Fqfear IRREAAHEY 3cdree geshiea fhad Affad srsdeor &

CeuelT AFAeY IS d dded fAehdr &2l @9 O TIse .
hoitq fel Rrgia Tasa +n

GrelTeldhT HIUTAET &l 92T isdl
YNNI raf¥e AR TaT &
quT Faefeed qUSeAr wTTAdTAT 3HE RN HIUAT SAdld o TS .

GrelleTdeh! HIUTAET Gl 9 HISar.
T W F{UTH HII? I Hged TASE .
fave Arfedr 3y Aasear FaEder Hel HRUNHT gl I TIsC .

&omar 2
GrelleTdehT SHIUTART &Y 92T Tisdl.
LM dsh dhlal d ardt afersed ¥osc .

IS TSHTET 3R T TcleT A9k RO YRUTHGRSRAT ATl I TISE .

IS-LM FTIHATI=ar S8R 93T AR I &el.

GTelloTdehl PTGl Gl 9 Hlsar.

I AR gaoR<ar e T Agidid aofer a.
JEATd JehTedT HIgRAT qRE AR faId Fase .
HFd IR UROMER Tl .
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GTeilerdeh! HIUTAT alel I HIsdT.

cafas afadad gx gomeliay @t &,

HST-FA AT UidATAIT isaer ot archer® g fafesa &X eafs 3m@drer faeda
(TSTRITY) RO GAUTH FRbAT TIST HI

SIAER ANl A gy L0ATAT 3TN Tt

GTelleTdehl PIUTAET GleT 9T HlSar.
ISR 3193 GT FROITHEY AT $fAHI TS T
AR eafaedear YA HIARTEN TdaT .
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